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1. Ghi dﬁy du cac muc o trén béng mot loai bat, muc;|| Giam khao s 1 | Gidm khao s6 2 do Chu tich
1am bai bang cach thyc hién (theo huéng dan) Hoi dong cham ghi
cac chon lya trong Bang tra 101 ¢ trang nay.
2. Khong dung bat cir ky hiéu nao dé danh dau bai.
LOI GHI CUA GIAM KHAO Diém bai khio sat SO CUA MOI BAI
Bing sd Bing chir tir 1 dén 30
do Giam thi ghi
BAI KHAO SAT SO 1 (Ngay 25/7/2020)
i Thoi gian 1am bai: 45 phit (khong ké thoi gian phdt dé) MA 398
Huwéng dan tra 161 cho moi cau:

Tir cdu 1 — cau 20: Dung bt chi t6 den 6 chon lua trong Bang tra 16, vi du chon dap 4n @), t6
den® dap an nay. Néu muon doi chon dap an khac, dung gom dé tay sach dap an cl va to den dép an
moi.

Tir cdu 21 — cAu 24: Thi sinh ghi d4p 4n vao bang tra 10i (khéng can ghi loi giai hay giai thich)

Khong tra 101 bang cach khoanh tron ¢ dau cac cAu dap an trong phan dé dwéi Bang tra 1oi.

Chi chim diém cho phan bai lam trong Bang tra 101.
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BAI KHAO SAT (gom 24 cau) N ATTOA
Question 1. Look at the grid to the right. Lan starts at the star. She moves 2 Vf/_\,!\& OO
squares southwest, 2 squares north, then 1 square east. What shape does she %f‘,’\ y 1A
arrive at? A. pentagon B. star C. circle D. triangle s =00

Question 2. There are 30 students in the class. They are asked whether they like

tigers, giraffes or lions. The diagram shows their answers (each circle shows the

total number of students who like those animals). How many children say they

like both tigers and giraffes, but not lions?
A.3 B.6

C.7 D.5

Trang 1/4 - M3 dé thi 398



Question 3. Each picture of fruit placed in this grid represents a o o O
24

number. The totals for each row and column are shown.

What is the value of an apple @ plus an orange Q? ¢ ° E
A. 8 B.9 C.10 D.12 % O 0

Question 4. You are facing east. If you turn anticlockwise a right 0 0 O
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angle and then turn back round, which direction will you be facing
now?

A. north B. east C. south D. west
Question 5. Which one of the patterns would be created with these folds (A) and cuts?
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Question 6. If a map has a scale of 1:2 500, what is the actual area of a piece of rectangular land of 350 cm?
on the map?

A.2187.5m? B. 218 750 m? C. 8750 m? D. 87.5m?
Question 7. Among the following proverbs, which one is closest in meaning to ‘Déi cho sach, rdach cho
thom?

A. Déi an vung, tung lam can. B. An trong noi, ngoi trong hudng.

C. An phai nhai, n6i phdi nghi. D. Gidy rdch phai giir ldy 1é.
Question 8. Jane began observing a hyacinth plant on Friday when some of its flowers bloomed. Then,
the number of flowers which bloomed on any day was equal to the number of flowers which had
already bloomed. No flowers withered. All the flowers had bloomed by the following Thursday. On
which day had exactly half of the flowers bloomed?
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A. Sunday B. Wednesday C. Monday D. Tuesday
Question 9. The diagram shows two identical graduated cylinders 5 S
of 900 ml capacity, each containing some water. In order for both — 900mi — 900mi

cylinders to contain the same amount of water, how much water

should be poured from the cylinder on the left into the cylinder on 600mI — s0omi
the right?
A.125 ml B.150 ml C.175 ml D. 200 ml 300mi 300mi
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Question 10. Phong did an experiment with oil and four similar leaves on the same plant.

g & g g

leaf 1 leaf 2 leaf 3 leaf 4
Upper sider is Underside is coated  Both sides are coated Not coated with oil
coated with oil with oil with oil at all

He left the plant out in the sun for three hours. Which leaf will lose the most amount of water?
A. leaf 1 B. leaf 2 C. leaf 3 D. leaf 4
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Question 11. A group of
science students conducted a
study on the eggs of different
animals. The experimental -
set-up  consists of four Eggs of Eggs of
identical jars, each containing mosquito mealworm
beetle

an equal number of eggs of

different animals. In which
jars would the eggs develop
into their next stage?

Eggs of

butterfly

A.land3 B.2and 4 C.2and 3 D.3and 4
Question 12. If the area of the bigger square shown is 64 cm?, what is the area of the small
square?

A. 4 cm? B. 24 cm? C. 16 cm? D. 8 cm?

Question 13. Tam sees a clock in the mirror where it looks like this. What is the actual
time?

A. 4:10 B. 4:50 C.5:10 D. 7:10
Question 14. Van is stringing beads for a necklace, starting with two round beads, then a
square bead, and then repeating this pattern of three beads.

+ Q1L OO OO >0

She finished her necklace with a round bead, which happens to be the 18th round bead. How many
square beads are on her necklace?

A.10 B.9 C.18 D.8
Question 15.

Méin ma mudi bién Sa Huynh
Ngot dwong ....(1)... tham tinh qué ta
Puwong phéi, chim mia, mach nha
Aivé ...(1) ... thir qua mét lan
Which province of Viét Nam is (1)?
A. Quang Ngéi B. Tay Ninh C. Binh Phudc D. Quang Nam
Question 16. Which of the following is the famous quote from the national hero Nguyén Trung Truc?
A. Bao gid nguoi Tay nhd hét o nuée Nam thi méi hét ngudi Nam danh Tay.
B. Noi nao ta mang quéan tdi, noi d6 quan thu bi danh tan tanh.
C. Ta tha lam quy nudc Nam chtr khong thém 1am vuong dat Bic.
D. Ngdi yén doi gisc khong bang dem quan ra pha thé manh cia gizc.
Question 17. There are 36 guests dining, a round table can seat 5 people, and a square table can
seat 4 people. Which of the following ways of arranging the tables gives each guest a seat and there
IS no more seat left?
A. 1 round table, 2 square tables B. 2 round tables, 4 square tables
C. 3round tables, 5 square tables D. 4 round tables, 4 square tables
Question 18. This shape can be folded A

into a cube. Which cube could it be? %
®--[% .
L

A~
—

Je Yo gj\

¢

@

Trang 3/4 - Ma dé thi 398



Question 19.
La la lich cua cay
Cay lgi la lich dat
Trdng ldn roi trang moc
La lich ciia bau troi
Ba tinh nham. Me o1,
Muoi ngon tay la lich
Con toi lop, toi truong
Lich lai la trang sach. (Nguyén Hung Hai)
Two lines “Con t6i [0p, 101 truong / Lich lai la trang sach”mean:
A. Khi Con tdi l6p, toi truong, m01 trang sach déu co ghi ngay, thang trong nam.
B. Khi Con t6i I6p, téi truong, mdi bai hoc nhu mot cft moc ghi d4u thoi gian.
C. Khi Con t6i Ip, t6i trieong, con dugc hoc vé cach tinh ngay thang nam.

D. Khi Con t6i I6p, téi truong, con can mang theo sach v theo timg nam.
light

Question 20. The diagram shows light shining on an opaque Hl {ﬂ
pyramid in a dark room from two different directions.The il

pyramid is made up of four equilateral triangles and a square e | I
base. Which of the following correctly shows the shapes of the —

shadows formed on screens A and B?

I

A B A B

AN mA A-AI

A. B. C. D.
Question 21 . A zoo keeper weighed some animals at Sai Gon Zoo. He found that the lion weighed 90
kg more than the leopard, and the tiger weighed 50 kg less than the lion. Altogether the three animals
weighed 310 kg. How much did the lion weigh?

Question 22. Huong has a combination of lock for her bike like the one below. It has the numbers from
0 to 9 on each tumbler. It clicks every time she moves the tumblers one number forward or back,
including a click as the tumbler moves between 9 and 0. She finds the lock in the position 9-0-4
shown. Her combination is 5-8-7.

— — ( ] & N
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C ) =D & =0 =[O [= 4 = D ¢ D )
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What is the least number of clicks needed to get the lock to her combination?

Question 23. Every symbol represents a positive integer greater than 1. In order to fulfil the below
mathematic operations, what number is ‘Y representing ?

T .5 ﬁ:
=Y =14 A -4 = B
4
Question 24. Phung left for Work at 06:13. She walked to the bus stop in 18 minutes, then she had to
wait 2 minutes for the bus to arrive. The journey on the bus lasted 25 minutes, and then Phung walked

for another 12 minutes before she got to work 20 minutes early. What time did Phung start work?

The end
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